
0 5 10 15
0

0.5
1

0 5 10 15
0

0.5
1

0 5 10 15
0

0.5
1

0 5 10 15
0

0.5
1

0 5 10 15 20 25 300

0.5

1

1.5

2

2.5

3

a) b) c)
co

n
ce

n
tr

a
ti

o
n

time

sy
n
th

e
si

s 
ra

te

A

B

C

D

 dtotal =1

increasing ratio of  
di

 dtotal 

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1

 dtotal =0.4  dtotal =0.25

0 5 10 150

0.5

1

1.5

2

2.5

3
AB
ABC
ABCD
A
B
C
D

0 5 10 15 20 25 300

0.5

1

1.5

2

2.5

3

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1

0 5 10 15 20 25 30
0

0.5
1


